

1. EXERCICE 2 : CALCULER $f'(a)$

1.1. $f : x \rightarrow 2x - 3$; $a = 0$.

$$f'(x) = 2 \quad \text{donc} \quad f'(0) = 2$$

($f'(x)$ est une fonction constante elle vaut 2 $\forall x$)

1.2. $f : x \rightarrow 3x^2 + 2x - 1$; $a = 2$.

$$f'(x) = 6x + 2 \quad \text{donc} \quad f'(2) = 14$$

1.3. $f : x \rightarrow \frac{x-2}{x-3}$; $a = 2$.

$$f(x) = \frac{x-2}{x-3} = \frac{u}{v}$$

$$u = x - 2 \quad ; \quad u' = 1 \quad ; \quad v = x - 3 \quad ; \quad v' = 1$$

$$f'(x) = \frac{u'v - v'u}{v^2} = \frac{(x-3) - (x-2)}{(x-3)^2} = \frac{-1}{(x-3)^2}$$

$$f'(x) = \frac{-1}{(x-3)^2} \quad \text{donc} \quad f'(2) = -1$$

1.4. $f : x \rightarrow \sqrt{5-x}$; $a = 4$.

$$f(x) = \sqrt{5-x} = \sqrt{u}$$

$$u = 5 - x \quad ; \quad u' = -1$$

$$f'(x) = \frac{u'}{2\sqrt{u}} = \frac{-1}{2\sqrt{5-x}} \quad \text{donc} \quad f'(4) = -\frac{1}{2}$$

2. EXERCICE 3 : CALCULER $f'(x)$

2.1. $f : x \rightarrow (2-x)^3$.

$$f(x) = (2-x)^3 = u^3$$

$$u = 2 - x \quad ; \quad u' = -1$$

$$f'(x) = 3u^2u' = -3(2-x)^2$$

2.2. $f : x \rightarrow \frac{4}{x}$.

$$f(x) = \frac{4}{x} = 4 \times \frac{1}{x}$$

$$f'(x) = 4 \times \frac{-1}{x^2} = \frac{-4}{x^2}$$

2.3. $f : x \rightarrow \frac{-2}{x-1}$.

$$f(x) = \frac{-2}{x-1} = -2 \times \frac{1}{u}$$

$$u = x - 1 \quad ; \quad u' = 1$$

$$f'(x) = -2 \times \frac{-u'}{u^2} = -2 \times \frac{-1}{(x-1)^2} = \frac{2}{(x-1)^2}$$

2

2.4. $f : x \rightarrow \frac{2x-1}{x+2}$.

$$f(x) = \frac{2x-1}{x+2} = \frac{u}{v}$$

$$u = 2x - 1 \quad ; \quad u' = 2 \quad ; \quad v = x + 2 \quad ; \quad v' = 1$$

$$f'(x) = \frac{u'v - v'u}{v^2} = \frac{2(x+2) - (2x-1)}{(x+2)^2} = \frac{5}{(x+2)^2}$$

2.5. $f : x \rightarrow 3x - 5 + \frac{3}{2x}$.

$$f(x) = 3x - 5 + \frac{3}{2x} = 3x - 5 + \frac{3}{2} \times \frac{1}{x}$$

$$f'(x) = 3 + \frac{3}{2} \times \frac{-1}{x^2} = 3 - \frac{3}{2x^2}$$

2.6. $f : x \rightarrow x^2 + \sqrt{x}$.

$$f(x) = x^2 + \sqrt{x}$$

$$f'(x) = 2x + \frac{1}{2\sqrt{x}}$$

2.7. $f : x \rightarrow \sqrt{5x-4}$.

$$f(x) = \sqrt{5x-4} = \sqrt{u}$$

$$u = 5x - 4 \quad ; \quad u' = 5$$

$$f'(x) = \frac{u'}{2\sqrt{u}} = \frac{5}{2\sqrt{5x-4}}$$

3. EXERCICE 5 : VARIATION ET DÉRIVÉES DE $f(x)$

3.1. $f : x \rightarrow -x^2 + 2x + 3$.

$$f(x) = -x^2 + 2x + 3$$

$$f'(x) = -2x + 2$$

x	$-\infty$	$+1$	$+\infty$
$f'(x)$	$+$	0	$-$
$f(x)$	\nearrow	4	\searrow

$f'(x) = ax+b$ avec $a = -2 < 0$ donc négatif pour x

< 1

3.2. $f : x \rightarrow \frac{x+3}{x-2}$.

$$f(x) = \frac{x+3}{x-2} = \frac{u}{v}$$

$$u = x + 3 \quad ; \quad u' = 1 \quad ; \quad v = x - 2 \quad ; \quad v' = 1$$

$$f'(x) = \frac{u'v - v'u}{v^2} = \frac{(x-2) - (x+3)}{(x-2)^2} = \frac{-5}{(x-2)^2}$$

x	$-\infty$	$+2$	$+\infty$
$f'(x)$	$-$	\parallel	$-$
$f(x)$	\searrow	\parallel	\searrow

3.3. $f : x \rightarrow \frac{x^2+x+1}{x+2}$.

$$f(x) = \frac{x^2 + x + 1}{x + 2} = \frac{u}{v}$$

$$u = x^2 + x + 1 \quad ; \quad u' = 2x + 1 \quad ; \quad v = x + 2 \quad ; \quad v' = 1$$

$$f'(x) = \frac{u'v - v'u}{v^2} = \frac{(2x+1)(x+2) - (x^2+x+1)}{(x+2)^2} = \frac{2x^2+4x+x+2-x^2-x-1}{(x+2)^2} = \frac{x^2+4x+1}{(x+2)^2}$$

$$\text{racines de } x^2 + 4x + 1 : -2 \pm \sqrt{3}$$

$$f'(x) = \frac{(x+2-\sqrt{3})(x+2+\sqrt{3})}{(x+2)^2}$$

x	$-\infty$	$-2 - \sqrt{3}$	$-2 + \sqrt{3}$	$+\infty$		
$x+2-\sqrt{3}$		-	-	0	+	
$x+2+\sqrt{3}$		-	0	+	+	
$f'(x)$		+	0	-	0	+
$f(x)$		\nearrow	\searrow	\nearrow		